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Fig. S1 EDS scan of CTGN, showing atomic composition.  

 

 

Fig. S2 Percentage of CTGN atomic composition. 



 

Fig. S3 Example of a gas chromatography analysis of (a) liquid and (b) gaseous products. 

 



 

Fig. S4 Effect of reaction time on each liquid and gas product corresponded to (a) water, (b) 

methanol, (c) ethanol, and (d) isopropanol SCRs. 

 

Fig. S5 SCR concentration changes concerning the time of CO2 photoreduction operation. 

 

 



List S1 Lists of total reaction equations for the formation of methane, methanol, ethanol, 

acetaldehyde, isopropanol, and acetone. 

CO2 + 8H+ + 8e− → CH4 + 2H2O                                                      (S1 − 1) 

CO2 + 6H+ + 6e− → CH3OH + H2O                                                   (S1 − 2) 

2CO2 + 12H+ + 12e− → C2H5OH + 3H2O                                              (S1 − 3) 

2CO2 + 10H+ + 10e− → CH3COH + 3H2O                                             (S1 − 4) 

3CO2 + 18H+ + 18e− → C3H7OH + 5H2O                                              (S1 − 5) 

3CO2 + 16H+ + 16e− → (CH3)2CO + 5H2O                                             (S1 − 6) 


